Phys 113 Test 3 Name: Page 5

5. (25 pts.) The asteroid Toro has a radius of 5 X 10> m and a mass of 2.0 x 10" kg.
Suppose that an astronaut throws a rock of mass 3 kg straight up from the surface of the
asteroid with an initial speed of 18 m/s. What is the speed of the rock when it is
2 x 10*m above the center of the asteroid? (Neglect the gravitational forces due to all
other objects.)
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5. (25 pts.) The asteroid Toro has a radius of 5x 10° m and a mass of 2.0 x 101 kg.
Suppose that an astronaut throws a rock of mass 3 kg straight up from the surface of the
asteroid with an initial speed of 18 m/s. What is the speed of the rock when it is
2x 10* m above the center of the asteroid? (Neglect the gravitational forces due to all

other objects.)
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